EARAROBREBRT —5 XN—ZXBISH—F 20242848 (B) 1BUVESH

N SREBEEARLE KEF) T2 BRI
[AXE%) 1 % :7,900,000  ~ 23&:3,200,000 W  33%:2,000,000 . 43#&:1,200,000 9 ~ 5 & :790,000 /9
HEE BESS/ HE | BE (FB) [91L @2 | BBIEG | LF[SER | AR | #E | 786G FB) / B / £&ERS
11516 | 9= RZET—)L 47 ga#%buaex 3:(14).1 1-1-2-1 [13.6| — 1 490 ﬁ%gﬁéﬁig
RDO—URI—-Z B:FE—LIFL 2| Sy
2lgl2l 7aLvyT i 5 g?fg%— 3(:14.)2 55-1-2 |13.6| - 2 | 458 Eg%%g)\ €S
. 3/4 ¥ 7=
RiIvRIVTA B:F4I7AVILT (-2) REIS
31505 Y1—v3vx 45 ZBB%*D% 3:(15;.1 2-2-3-3 | 13.6| - 5 470 mJTI%:t (FE=H)
. 5 _ EIIG:E
RFAIATp— B A—ITSYZa— D Esnor—n
4 8 ®@ISF 47 4 5 &%ﬂl 3:(15).8 5-5-4-4 | 13.7| - 4 494 ﬂtg{;% (555m)
o 4 SRIE
RSTU—FA 1A FEXE 08 | a3 Foagin
slgl11 F—LOD1 I o4 | B 3:(126).1 9-9-8-8 |13.7| — | 3 (423 ﬁ(ﬁfﬁgfﬁyyd
RFAIAYp— B:RLOTA VI BT 7—L
61111V /2129— B4 gﬂ;*%#%tz (3:16.1) 4-4-7-7 | 13.7| - 6 | 484 ;%EHE* (FR)
RSTU—F4 8Ly RASYVa g 12| ingss
IV RSV w7 %Eg?&ﬂﬁ 3(:16.)2 7-7-5-4 [13.7| — | 11 | 488 g%ﬁ; €3]
. e ) =
RV VIR Y N BATRE ST RR A pire
JYET—2 s iRt (3:16.4) 7-7-5-6 |13.7| — | 8 | 494 ’;'*;”E% ﬁ(?ﬁ)
. 11/2
LD URI—2 B:SHRYDR O | s
HRJSZAF—T 44 ;%z“:;@ (3:15.4) 11-11-10-9 [ 13.9 | — 9 498 ;g{% (€29
— . IAH . }ﬁ
4:1nto Mischief 8:FLATUF4— y 8 |3E5 5
FYATYRe—IL 44 %‘Eﬁi’ﬁﬁ 3:(19).6 2-2-9-9 |14.0] — | 12 | 480 §¥E§‘§% €35
o 7 =
RiIAYYTSwvya AV Ry—)LFA © ﬁﬁ%?—A
(LY 219)LF— 4 8 gg%ﬁflﬁl (3:21.8) 12-12-12-12| 14.1 | — 10 | 520 §$§;§;§ (F=H)
- 4y 6 |3
RN PF—) B L—RD 4 YT 0 | 55—
S 7 — g | KBIE 3:21.9  [10-10-11-11|14.1| - 7 | 558 | RRSEB— ()
etv72a—)l #8156 a0 (e | AHEL
R:FLIATv— B:T7ESRIAL RIS
[ BN
En'y 52.0-39.2
IA\DZE N
® I1—7F—BE&IEfI
13—7F— (3,#6,5)1(12,8) (2,7)11-9-10-4
20—F— 6(3,5)1(12,8) (2,7)-11-9,10=4
30— — (6,+12)-5,8(2,7)1-11-3=10,9-4
451—rh— (*6,12)=5-(8,7)2,1-11=(10,3) =9=4
o ILRE
BB 6 170 | | 94 R 6-12 200 % 3E 5-8 210M 3EE 5-6-12 1,210
B B 6 110/ 5-6 390 5 E 6-12 390 3EH 6-12-5 3,940
12 130 5-12 560/ =51 6-12 590M
5 230M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



